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Use Whitney's method to work out these divisions.

0) 58555 = O 684

B 672:6= 877

© Compiete the portuhole models and disions.

169+ 4=

What s the same and what is different about the calculations?

Talk about it with a partner.
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© v hos o piece of ribbon. ﬂ\
The ribbon measures 839 cm long.

How much ribbon would be left over if she cuts it into:

) 4 equal pieces.

b) 6 equal pieces

9 8 equal pieces.

Can Eva cut the ribbon into equal pieces
with no ribbon left over?

Explain your answer.

Use 15 counters and a place value chart.

@) Can you make a number that is divisible by 37

b) Can you make a number that has a remainder
of 1 when divided by 32

9 Can you make o number that s a remainder
ot 2 when divided by 37
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